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£AH m TEEM [FFERSINAE|HEK) EH (kg)| &EWM) | PE@E) | REWM) ik No.
R7.4.28 |[f2L\CA &t %Y = )
R7.4.28 |IZALA #4 [ By 10 @
R7.4.28 [I2ALA &t Y = @
R7.4.28 |C1Z5 &3t ) = ®
R7.4.28 |f=17DZ FriE Y 1
R7.4.28 |fzI+DZ &5t #Y -
R7.4.28 [[E<ELy A Y = @
R7.428 v~y &t ) = ®
R7.4.28 |FRoL vy A&t 5y 27.0 ®
R7.4.28 |h& (&) 48 By —X @
R7.428 (¥ (M) 4 1) 3 @
R7.4.28 |fa¥ A% %Y = @
R7.428 |tJL1)— FriE Y 10
R7.4.28 |&JL)— aF #Y -
R7.428 |LAR FriE Y 10
R7.428 [L%X &% ) =
R7.4.28 |Ep5Y(R—3—) FE Y 504 ®
R7.4.28 |Zp>5Y(A) E4A #ib 5 ©)
R7.4.28 |Z®p>5Y &t #Y = ©)
R7.4.28 |MIFB% &t Y -
R7.4.28 |59 L Y = ®
R7.4.28 [Fk B Y 4 ®
R7.4.28 |F=h &% Y = ()
R7.428 [E—<> &% ) = @
R7.4.28 |SVZAESEED)  |FE Y 2
R7.4.28 [SPRAES =L 0] -
R7.4.28 |IEHl L& 5 5y 10 ®
R7.428 [[EhirL& &% ) = ®
R7.428 |t-Fh#& B4 Y 10 @
R7.4.28 |f=Fh¥ &% ) = @
R7.428 |EL&SH FhiE Y 0.1
R7.4.28 |ZEL&LSH AaF Y -
R7.4.28 [#LU V=1 B4/ Y 01 ®
R7.4.28 |£LL M=IF &% Y = ®
R7.4.28 |ZDEIF At #Y -
R7.4.28 |S%L®HL E4A Y 0.1
R7.4.28 |S7L&HL a% #Y -
R7.4.28 |5t Y 27.0
R7.4.28 |#&t 0] 27.0 iR RE
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BFITHEAH 28 A
FAH LRk TEEM |FEWMSIOAE| BEW |28 (k)| BIEW) B (M) ZIE(M) w5 No.
R7.4.28 |f2L\CA T ARt 0.9 10 1512 1350 1350 ©)
R7.4.28 |2L\CA FE A%t 14.1 10 1728 1404 1080 ©)
R7.4.28 |FFW\CA &t A%t 15.6 @
R7.4.28 |IZA LA LilE] ik 1.1 10 2808 2700 2160 @
R7.4.28 |IZA LA BE A%t 18.5 10 2700 2700 2268 @
R7.4.28 |IZALA i ik 19.5 @
R7.4.28 |ZIF5 HH A%t 0.2 10 6804 ®
R7.4.28 |ZIF5 i ik 0.4 ®
R7.4.28 |fzIFDC LilE] ik 0.1 1 432
R7.4.28 |z i ik 0.1
R7.4.28 (&< T A%t 18.7 15 1620 1296 1080 @
R7.4.28 (&< i ik 18.7 @
R7.4.28 |FvAY EES ks 15.2 10 1274 1188 1166 ®
R7.4.28 [F+4~_Y F450 A%t 17.1 10 1728 1404 1188 ®
R7.4.28 |F¥RvY A&t ik 348 ®
R7.4.28 |/RoL Uy 3] A%t 07| —% 119 97 86 ®
R7.4.28 [RyL2yty BE A%t 01| —=® 130 108 ®
R7.4.28 [RyL>vy i A8t 1.1 ®
R7.4.28 |R& (F) Gidci] A%t 08| —=® 173 162 65 @
R7.4.28 |R&E(A) B3 A%t 0.3 5 1728 1620 @
R7.4.28 |R&E(A) Gidci] A%t 0.3 3 1620 1620 1404 @
R7.4.28 |fa& i ik 46 @
R7.4.28 [t)L1)— FHlE A%t 0.7 10 3780 3780 3564
R7.4.28 |t)LY)— i At 0.8
R7.4.28 [LAZ B3] A%t 25 10 2273 1620 1296
R7.4.28 [LAZ FHlE fiks 7.9 10 1944 1404 1188
R7.4.28 |LAR Eh ik 10.6
R7.4.28 [Ep5Y(X—3—) FHlE fiks 02| 50& 2700 1620 1296 [©)]
R7.4.28 |Ew3Y (H) BE At 53 5 2376 1728 1404 [©)]
R7.4.28 [Ep35Y(H) FE ik 1.3 5 2052 1728 1404 @
R7.4.28 |Ep5Y i At 10.6 ©
R7.4.28 [MFHe N-Z A%t 3.9 10 2700 1944 1944
R7.4.28 |MEb% i At 4.0
R7.4.28 |29 (4&) Z450 A%t 0.7 5 2160 1944 1728 ®
R7.4.28 |59 (&) REAR ik 24 4 1728 1296 1080 ®
R7.4.28 |%59 i At 45 ®
R7.4.28 |k<k FHlEl At 1.1 4 4104 1620 1404 @
R7.4.28 |k<k REA At 46 4 1404 1296 1080 @
R7.4.28 |k<hk i At 5.8 (W)
R7.4.28 |E—<> B3 aibss 20[ 015 108 ®
R7.4.28 |E—<> i At 46 ®
R7.428 |SWRAESEES) |#E aibss 2
R7.4.28 |SVZAESER) BRE aibss 1
R7.4.28 |SPRALES i At 0.1
R7.4.28 |[Eh L& JtimE aibss 10 ®
R7.4.28 [[FhL L& FE ik 0.6 10 4536 4536 4104 ®
R7.4.28 [[Fhi L& BRE A%t 9.0 10 6048 4536 4104 ®
R7.4.28 [[FhL L& &Et At 95 ®
R7.4.28 |f-Fh¥ JtimE LEES] 1.1 20 2808 ®
R7.428 |f-Fh& FiE LEES] 6.5 10 1836 1296 864 ®
R7.4.28 |f-FEh& &Et At 139 ®
R7.4.28 |EL&SH 4 Licp 0.3 0.1 130 130 108
R7.428 |ZEL&LSH &Et A8t 0.3
R7.4.28 |4 LUV =T FiE Lizksy 0.4 0.1 173 162 130 ®
R7.4.28 [#LU V=1 &Et At 0.6 ®
R7.4.28 |ZDEFIT RE LEES] 20 0.2 97 70 65
R7.4.28 |ZDELIT Ait FHXE 2.0
R7.4.28 | A HL&HL RE LEES] 0.8 0.1 81 81 78
R7.4.28 | A HL&HL B LEES] 0.1
R7.4.28 | A7ELHL Ait FHXE 2.7
R7.4.28 |t FHXE 164.8
R7.4.28 |#&t A8 164.8 min:RE
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R7.4.28 |[HEAMA NI |E4E Y 10 @
R7.4.28 [HE#HMA &% Y = @
R7.4.28 |YAC AaF i) = ®
R7.428 |LWET (FLIE-R) FafE Y 0.26 ®
R7.428 |WET (ELUE) EH Y 0.26 ®
R7.4.28 [\ &% Y = ®
R7.4.28 (A0 (F—ILR) % By 8 @
R7.4.28 [*Oy &% Y = ®
R7.4.28 [FL v &% Y = ®
R7.4.28 [&t Y -

R7.4.28 |#a&t #Y = iR RE
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F E & B Kk % M & #® HF =
STNTHEAH 28 B

£AA % FTEEH |FENMSIOAZ| #2028 ke)| SEW) i {E (M) RIE(M) &% No.
R7.4.28 |HEAMAGIYILI YL |88 LizES] -l 10 @
R7.4.28 |HE#HMA G Hxt = ®
R7.4.28 VAT (Vata-mh)  |FFH LS 05 10 4,860 @
R7.4.28 |[YAZ (B2 5L) B LS 18 10 6,480 4,860 4,860 )
R7.428 [YAZ (E#) & LS - 10 @
R7.4.28 VAT a5 LS 2.3 @
R7.4.28 [LWBZ (#IIF-R) FE waxt 11 026 378 324 162 ©)
R7.4.28 |WEZ(ELUE) FhRE Haxt 03[ 026 378 173 173 ®
R7.428 (V6T &5 %t 1.4 ®
R7.4.28 |AOY(F7—ILR) FE Haxt 0.2 8 19,440 14,040 8,640 @
R7.4.28 |AOY (FYTR) REAR waxt - 5 @
R7.4.28 (*Q> A% axt 0.5 @
R7.428 [FL\H(UA\HR) REAR Haxt 38 15 9,180 8,100 7,020 ®
R7.4.28 |3 L\H &it Aaxt 38 ®
R7.4.28 |&t axt 8.0

R7.4.28 |#a&t LS 8.0 min:RE
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